
(2960 x 2960 x 2380mm) 001 

7,51m2 

10,13m2 



r 

-

I. 

••n 
,v 

co 

C) 
� 
,.,, 

(2960 x 2960 x 2380mm) 

3300 

2960 

� 

-

3070 

2960 

-

__.,c, 

----

I 
-

� 

. ......

-, 

---- -----

I 

= P"'= 

11• 

1505 

2960 

C) 

O' 

C) 
� 
� 

-- ---
-

..... 

002 

C) 
� 
O' 
� 

., 

C) 

co 

,.,, 



• (2960 x 2960 x 2380mm) 003 .... :-.®� 

List of the products for assembly - 1 6 407P

Nr Photo of the products Name of the products Dimensions (w./h./l/)  Q

Al � � cJ Profile board 50x90x2841 mm 4 

Bl � � 8 Wall board 19x67x2960mm 1 

B2 � � 8 Wall board 19x67x2960mm 1 

B3 C ::i 
� 

Wall board 19xl 23x2960mm 48 

B4 C 8 � Wall board 19xl 23x3070mm 2 

B5 c::::::J � Wall board 19x 123x692mm 32 

___..-,.r--..._ 

IC ------- ----
Wall panel 19x448x2960mm 2 ___-u-- -v---__ 

� 

D L.Ji 1W 

D Rafter 40x9 5x3070mm 3 

El 0 Strengthening tape 16x40x27 41 mm 2 

E2 i::::::::i 0 Strengthening tape 1 6x40x200mm 2 

E3 c::::::J 0 Strengthening tape 16x40x90mm 2 

F I I 
� 

Roof board 16x98xl 700mm 70 

Gl c:::::J Fastening tape 1 6x40x3070mm 4 

G2 c:::::J Fastening tape 16x40xl 705mm 4 

H \ I � 
Cover strip 19xl 23xl 724mm 4 

I ◊ � 
Decorative element 19xl 50xl 20mm 2 



IL'_� 
.�.,·••u•ue.tr:J;e 

' If 
.. 

Nr 

Jl 

J2 

Kl 

K2 

K3 

L 

Nr 

Ml 

M2 

M3 

M4 

M5 

(2960 x 2960 x 2380mm) 

List of the products for assembly

Photo of the products 

0 

0 

Name of the products 

Clamping tape

� Frame 

� Frame 

� 

1111 1111 

Frame

 Double door 

+ closing tapesI== I== I== 

List of the products for assembly

Photo of the products Name of the products 

I I □ Post

I I 

� 
Floor board 

D Baseboard 

� D Baseboard 

� D Baseboard 

004 

Dimensions (w./h./l./ Q 

16x40xl 851 mm 4 

16x40xl 850mm 4 

56x70xl 860mm 1 

1 

1 

1 

56x70xl 860mm 

56x70xl 625mm 

2 wings - 750xl 770mm 
board- 1 6x40x660mm 
board- 16x40xl 000mm 

Dimensions (w./h./l./)  Q 

50x90x2661 mm 5 

1 6x98x2731 mm 31 

22x30x27 41 mm 3 

22x30x558mm 1 

22x30x558mm 1 

Clamping tape



IL'_ J 
•�1•1e1•a•Je,v-:J;e . ,.... 

.. 

16 407P (2960 x 2960 x 2380mm) 

List of attached fittings

Nr Photo of the products Name of the products

hinge

� latch + hook locking

? locking latch (upper)

? locking latch (lower)

t > yellow galvanized screws 3x30mm

t > yellow galvanized screws 3x40mm

t > yellow galvanized screws 4x40mm

yellow galvanized screws 4x70mm

yellow galvanized screws 5x90mm

ring nails galvanized 2.5x40mm

l====J> roofing nails 2.5xl 6mm

005 

  Q

4 

1 

1 

1 

180 

70 

30 

12 

30 

710 

450 



(2960 x 2960 x 2380mm) 

25x40xh 12 - 35pcs 

DJ 

2882

□□□□□□□
□□□□ □□
�□□□ □□□ 
□ □□□□

□□□□□□

Element M 1 - Spcs 
screws 5x90mm - 28pcs 

.. I .. 10

20 

Element A 1 - 4pcs 

0 

N 

□□□□□
□□�□□ 
□□□□□

Element M2 - 31 pcs

Gwozdzie 2.5x40mm -500pcs

 _,laying distance 

006 

10 -+-



(2960 x 2960 x 2380mm) 

Element B.1 - 1 pcs

Element B.2 - 1 pcs

Element B.3 - 2pcs

screws 4x40mm - 28pcs

Element B.4 - 2pcs

Element C - 2pcs

Element K 1 i K2 - 2pcs

Element K3 - 1 pcs

treshold list 

Element B.3 - 45pcs

Element B.5 - 32pcs

Element D - 3pcs

screws 4x70mm - 12pcs

screws 3x30mm - 12pcs

007 

[fil 



(2960 x 2960 x 2380mm) 
Element F - 70pcs '97 

nails 2.5x40mm - 21 0 pcs L2..J
Element G 1 - 4pcs

screws 3x30mm - 30pcs

008 

[Q] 

Element H - 4pcs ri,7
L.!.!JElement G2 - 4pcs

screws 3x30mm - 55pcs
roofing nails 2.5xl 6mm - 400pcs

G2 



(2960 x 2960 x 2380mm) 

Element I - 2pcs 
Element L - 2pcs 

screws 3x30mm - 4pcs 

latch - 1 pcs 
screws 3x30mm - 8pcs 

0 

r--

0 

r--

hinges - 4pcs 
screws 3x40mm - 40pcs 

latch - 1 pcs 
screws 3x40mm-2pcs 

latch - 1 pcs
screws 3x40mm-2pcs 

Element J 1 - 4pcs 

�3 Element J2 - 4szt �wkr�ty 3x30mm - 70 szt 

I-' ,4 
' 

1 I 

" 
- '-

"-

-

-

_[ I 

M4 

I 

009 

L 

I l 4 1

Element M3 - 3pcs 
Element M4 - 1 pcs 
Element M5 - 1 pcs 

screws 3x40mm - 25 pcs 

_i 
I I I � 

_i 

\ 
\ 

-

\ 
\ 

\ _,,,,,,.--
"- \ 

"' 

.-.� 
T •-

-

-

I 

I 
M5 



(2960 x 2960 x 2380mm) 010 




